TI2{K} O “0| ZK[= QFarol oA Ly AErs
HOF0 0] = H2ACE” 5171 GHE0IAl LAGHA0(L.
“SEX|B BIX|, R0 Bt oA 0] B M SHK?
Oftf= QTS S0f ZHA0| 22 ZXSS TLIAOIL.
OHHZE BRI LE-0f 2411, AL X85| K7|7} B
ZHS 0] B0, K FOrIS O 20| 2L
RIS 0|6 3t of SO 0] o2 HY & KZCIT
MZESH01Q. TZICHH 0]E1oll 2ot M3 27127
“2 IO} EIX| & 7| Z0IRP QIL|7t SE 2AR|2
US|,
RIS OGP BAS £ 4 QISX| MZIe| BU0IR
Lol = Of oj4Le S0 77| Sloh 2o o &t &
QISTIR? 04 HS XH20| OIS 517|S HIZHATR DS XABUNS.
Y RS BAE Q7 0|0 RIS He HS HSC XZ0| MRS S H1s SOH UHOIL.
HoL01Q "Say H of g7
XS UBLS MEH0|Q, 2tD M| HO|X|= RS =22 ChA| Xp7| BX2 S8 3 0]27 KoL,
OIOIX|DH QUITF MR 7 B 2l 9IS A BHAMOQ. D= DE AR ANSRT LA Q. XU
HAS QM= IS 0| ST, 2 25 Af0|7} BX|Z ot ot0f| 2|2
W2 ZX| QOO RIS QHHE ARZSIX|TH Q= X = AR AI710] EI{0|2. TX[B XS 0 Ms| B
Ol4dS S0 742D Lot Qs % ZU0IS. QTF BT =X LR 2EHOIQ. T2 ARZI0| o7
‘QUi= o T LISt REA| T HX|? XHO| Stopag =) ROt of ElCte 2 UKD AT 22N
MZEH012. 2% &2 27} YAl
XIS QU7 ZX|Z 0| BN AELE QFar otof] g IIES0| HAIR|0| S FHIZ sHe =0t XA Say B
MEPY 92t GO CIZA0lQ. 12T BalE Qurf &
BX|Z HOIA Q0| 20|,
"Sof PO E O RN THoACIT A Q"
RS 9IS A7} YU, 0|Z HY HE o7}
) ] W7 RS £ 0 £20| A2 ) LIAKOL.
Atd HSE0| oHE XIS BR|Z RAAA YU 0o FO{LYUL
(4R 00|12 HiEto 2 3 e ol n = Bl om0l ol L
o0 04 J2JAEZS Bl AOL0| QIO H =L}
0] 0JOp7Ii= O R01A] S 20jo)2, strgiol2 BISIE 4 QO X2 O 189S S0t 2 4 Q0T S
3| 2 BLIS PABAS TS W 7122 22018, XHHO| A= NIAOIAE HEFHO| S Kt 0| USGA0IQ, 0T 20te| L0| USKE D270{L.
RIS MEFY FOO| JHED} b2 0 S2Q0p  BX|2foh iEl AERY QS H0 £0{2. 12|17 Ak O 042 Bai= D XZ0| HUZ M2 O & KYEE
12 7217) £0/2 5t YL OFEI0 &3 Q2 Otojli= ZHA0] 7}S X} QUL BHXITH O] ColEAl A5 92 02
MEFY FORS R0 U Z 74K Z015Hs 0|01, AERE QEre SHa0fQ. oHLFSIH AL 71ES o) 0= OF&], OFA] AlEf0j| OO} U= ZQH0| = Xf210|
ZHAITH SS0| QU 0] A|7|7} |3 PO OIS0 WotslT  0fAHS 93t M2 S 27| [R0[0Q, 0ISS OfX5| TE=30lQ. HH=0] HTHS L QXFOLA}
=01, 0] 2710 QUG HIZ HEFH0(L) ojOf= 28 AHAI0| L2 OI2LIS 3144 AEE oars RIS QWIZ T 00 QU012
“X}, ORSOF, O|F| GIF AEFY OF2rS ZH|SH AJZHOZITH  THLIAOIR. 181 [1S, J1E S0 RS ZX|9 (TS Lit Hal=0| 10| S THKOIL. “SU0F, of 0|27’
RIS 2% 201019, AEFY HMOF= Xp2I0| 7t ZNOI2. “LYH0f O OFAER|T AL S B JHXM . "L OIOF T AU0]. 2] T2 ADIAL"
Z0[5ts 0|91, O] BHEE XFO| 74 S06t= ME S X0 2= 7{0F” 0p7t BsH0L HEiEC B 2On XIS Otof 2231012, “H2]
g F2|ADIA " @

20234 12835 37






